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LAbstract] An applicable program for soloing the problems of curve element calculation,central

line coordinate calculation and memory, data searching in the curve setout and setout elemen, calc—

ulation antomatically in the highway surveying by PC-1500 is introduced.
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5. REM “XU-5"
10, INPUT “Xg=7;F,“Yg=";G, Hg
=7;H
20, “=”,INPUT ‘D.H=";DH
22, M=17000+DHX8, IF M>STAT
US 3 PRINT “*ERROR POINT”,
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GOTO 20 205: IF E1> EQLPRINT USING Zs5
25; INPUT “X="; W $;NE=";DMS(E1-E0);
26 W=INT ( (W-F)X1000+ .5) :GOTO 340
30: GOSUB 700, M=M+3; INPUT 310: LPRINT USING Z5$%$;“dE=",
W= W DMS(E1-E0+360);
31; W=INT ((W-G)>%1000+.5) 340; LPRINT *§$=7,55/1000
35, GOSUB 700, M=M+3; INPUT 350; LPRINT, GOTO 215
‘H="y W 442; CSIZE 1 Zs$ = s st #t st #t # . #
36, W=INT ((W-H)>>1000+.5) ##u’, L1 ="##un# . #tu#"
38: GOSUB 750.GOTO 20 D2 ="#tunn#wt.#tu"
40, GOSUB 442 445, Z3$="unun# ta u# .t uw #”, 74
50, FOR J=1TQO 700, M=17000+JX¥ S=Npp# naaaaau’,26%=
8. GOSUB 1600 ‘g una#.###e”, RETURN
55: LPRINT USING Z 1$;%IN="; 505: LPRINT USING Z2$;”H="; Hi
Ii'D.H="3;STR $J;, GOSUB 505 /1000 + H
60. LPRINT ,LPRINT,NEXT J.GO 506: LPRINT USING Z3§$;”X”;X/1000
TO 5000 +FsYY =7;Y/1000+G;. RETURN
102; “Z27,GOSUB 442, INPUT “Ce Zan 605: "M”, INPUT”Zuang Hao(B$) ”;
Hao =" A,”Hou Shi Hao”=;AH B$
110, M=17000=AX8;: GOSUB 1600 610; INPUT 7XU HAO=";]
120 X0=X,Y0=Y,HA=H1 620: M=16300-JX6,INPUT *X="; W
130: M=17000+ AHX8. GOSUB 1600 630; W=INT((W-F)X1000+.5): GO
150, X1=X,Y1=Y,HB=H1 SUB700; M=M+3; INPUT ‘Y=
205: X=X0.Y=Y0.Hi=HA s W
207: LPRINT"Ce Zan=";STR$ A, 640; W =INT ((W-G)>*1000+ «5),
GOSUB 505, LPRINT GOSUB700
208; X=X1,Y=Y1,H1 =HB 650, V=V +1, IF M<=STATUS 2GO
209; LPRINT “Hou Shi="; STR$ A TO 605
H,; GOSUB 505; LPRINT .GOS 660; FOR J=1 TO v, M=16300-JX6,
UB 1000:E0=E GOSUB 1600
210; LPRINT USING Z5$%$;%E0="; D 670: LPRINT USING Z3$;*XU
MS E ;% §=7;55/1000; LPRINT HAO (J)=";]J,GOSUB 506
215, *D”, INPUT “Zuang Hao="; B$ 680; LPRINT . LPRINT, NEXT]J,
,'X U HAOWU)="] GOTO 5000
220: M=16300- J>6. GOSUB 1600 700: GOSUB 1500: GOSUB 1520;
235: X1=X,Y1=Y, LPRINTYZUANG RETURN
HAOk)="3sB$;\=";STRS J 750; GOSUB 1500:. GOSUB 1530,
240: GOSUB 5063 LPRINT RETURN
300; GOSUB 1000;E1= E 800; REM Ji Suan Zuo BiaO



19954E 5% 2 e T # < 57
810: X = xO+D XCOS E; Y=YO+  1220: “G”;READ X1,Y1:IF X1=0 AN
DXSIN E; RETURN D Y1=0 END
850; GOSUB 442, LPRINT USING Z 1222 X =(x1-F)»%1000: Y=(Y1-G
6% K ="3;(K+-5)/1000; *V="; %1000, Xx1=%X:Y1=Y
STRS$ V 1225. ID=JD+1.GOSUB 1000
860. LPRINT USING Z3$8$; "X =" 1230; LPRINT USINGZ5$;“E0” =3 D
(F+ (X +-5)/1000);*Y ="5 (G +(Y MS E;™ S0=";S5)1000; LPRINT
- 5)/1000): LPRINT: RETURN 1235, E0=E,K=K0+SS; X=X1,Y=Y
900: M=16300- VX6: IF Mc=(STA 1.KI=K
TUS 2+50PRINT OVER": GO 4537, | PRINT USING”# # #“5"ID%]J
TO 5000 D; USING Z3$;" K="4 KI/1000
910; W=INT (x + +5),GOSUB 700 ;N V=";STR$ V, LPRINT *X
920, M=M+3; W=INT (Y++5): G =7,X1/1000 + F;
OSUB 700 1238, LPRINT 7Y =" ;Y1/1000 + G;LP
930, RETURN RINT
1000; REM F-S-F-W.J 1239, GOSUB 900, V=V +1
1010; X=X1-x0; Y=Y1-Yo0, IF 1240; READ CT
X=0 AND Y>0 LETE=90.GOT 1550, ON CTGOTO1255, 1700, 2000,
O 1050 3000
1015; IF X=0 AND Y<0 LET E=270: {955, T=0,GOSUB 1260, GOTO 1220
GOTO 1050 1260, REM Zhi Xian Jia Zuang
1020 E=ATN (Y/X): IF X<0 LET 1270, READ S
E=E+180; GOTO 1050 1275 S=S%1000; IF(SS-T) <SGOTO
1025: IF X>0AND Y<=0LET E=E + 360 1310
1050; SS=SQR (XA2+YA2): RET 1276, XO = X0, YO = Yol
URN 1280: WW =(INT (K0/S) +1)% $/1000
1200; “J”: REM IP Dian Ji Suan . Z = (INTCABS(KI~T)/S))/1000
1201: V =1:JD=0: T=0, GOSUB 442 X5
1202, RESTORE 4010 READ F, G 1285 COLOR 3. FOR J=WWTO ZST
1205: *S”; READ Xo0,Y0,K0 EP(S/1000)
1206; COLOR 1; LPRINT USING” 1290; D = 131000 - K0, K = J%1000,E =
# # #%VD7;JD; USING Z3§;° E0.GOSUB 4000
K=";K0; Y=%STR$ V. LPR 1300; NEXT J
INT "X ="; X0;5 *Y=";Y0 1305, IF CT=1 LET x0=x1;Y0=Y1,
1210; XE =(X0- F)X1000: YE= (Y0 Ko=KI
-G) %1000, XO=XE;Y0=YE; 1310, RETURN
X=XE; Y=YE 1500; REM ZUN SU
1215; Ko=K0X1000; K=Ko, GOSUB 1505; GOSUB 1540, P =QQ.GOSUB 15

900, V=V +1

40,0 =0QQ
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1510; GOSUB 1540 I =QQ.RETURN 2020; READ L

1520; POKE (M),0,P,I;RETURN 2025; R=R/1000

1530; POKE(M),0,P,;RETURN 2030: IF A=0GOTO 2510

1540; R1=INT (W/255),QQ=W - R1 2040; IF R=0GOTO 2570
%255: W =R1, RETURN 2050; IF L=0GOTO 2540

1550: O=PEEK (M);P=PEEK (M+1  2060: T0=206265/3600:B=L/R/2XTo
);I=PEEK (M+2); RETURN 2070: X=L>(1-((L/R)A2)/40 + (((L/R)

1600; REM QI SU A2)A2)/3456 - (CCCL/RYA2)A2)

1610: GOSUB 2500 X=W ., M=M+3 A2)/599040)

1615: GOSUB 2500, Y=W,M=M+3 2075 U=10/2

1620; GOSUB 2600, H1=W,RETURN 2080; Y=LXL/6/RX(1-({L/RYA2)/56

1700; REM Yuan QuXian +(((L/RYA2YA2)/7040)

1710, GOSUB 2700 2085: P0o=Y+RXCOS B-R

1720: U=10/2. T = ABS(RXTAN U) 2090; Q0=X- RXSIN B, T=Qo0+ ABS;

1730: A0=SQR (RA2+TA2):A=A0 ((R+P0)XTAN U)
-R:J0=90-ABS U 2100: A0=1000%(R+P0)/COS U,AA=

1735; Jo=J0X%SGN Io; LC=ABS (RXI (A0-RX1000);B=BXSGN Io; L
0>¢3600/206265) 0=R>*ABS (I0-2%B)/To+2XL

1740: COLOR 2,LPRINT “LC=";LC/  2105: COLOR 0,LPRINT USING Z5$
1000; *TC=";T/1000, LPRINT *N 3”1="DMSI0, LPRINT ‘R =";R,
C="“A/1000; LPRINT LPRINT USING Z1$;%A=";A

1745; GOSUB 1260 2110; LPRINT USING Z3$;“L =;"L,

1750; GOSUB 2750. K=KI-T LPRINT ”NC="% AA/1000; LP

1770: D=R;EH=EB,;KB=K;E=EB; C RINT “LL=";L0,LPRINT “LC
OLOR ¢ =";L0 - 2XL

1780: LPRINT “ZY”;.GOSUB 4000 2115: LPRINT” DR=";Po, LPRINT *

1790: K=KB+LC/2.E=E+U TC=%T,LPRINT ,Lo=L , Lo

1800: LPRINT “QZ”;,GOSUB 4000 =L10%1000; T=T>1000; L =Lx1

1810; K=KB+LC,E=E+U,L=LC 000; R=R>1000, GOSUB 1260

1820; KE=K,LPRINT “YZ”; ,GOSUB  2120: COLOR 0.LPRINT ”ZHY; , GOS
4000, XE=X,YE=Y UB 3000

1830; GOSUB 2830.IF Y$ =N GOT  2130: J0o=90~ ABS U;Jo=J0XSGN 10,
O 1890 GOSUB 2750

1840, IF Z - W<«(Q/1000)GOTO 1890 2140 EH=EB+B.D=R;K=KZ+L. E

1880; D=R,GOSUB 2860 =EH

1890, LPRINT ,X0=XE,Y0=YE.Ko 2150; LC=Lo-2XxL.KH=K
=KE;GOTO 1220 2160; LPRINT “HY"Y;.GOSUB 4000

2000 REM Han He Qu Xian Ji Suan 2170. E=EB+U.K=LC/2+KH

2010; GOSUB 2700,READ A 2180; LPRINT ”QZ";.GOSUB 4000
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200 E=EB+2XU-B, K=LC+KH; 2770: RETURN
KY =K 2830: READ Y §$
2210; LPRINT "YH";;GOSUB 4000 2840; IF Y$ ="N” LET Xo=XE; Yo
2220, KE=KZ+L0;K=KE =YE,K0o=KE,GOTO 2856
2230; XO0=X1,YO=Y1,D=T:E=E0+ 2850: READ Q
1o 2852: Q=QX1000
2240; LPRINT “HZ”;,GOSUB 4000 2855: WW =QX(INT (KB/Q))/1000; Z
2250, XE=X,YE=Y.EE=E.KB=KZ =QX(INT ((L+KB)/Q))/1000
2260: GOSUB 2830;IF Y$ =*N” GOT  2856: COLOR 3,RETURN
0 1220 2860; FOR J= (WW +Q/1000)TO ZST
2262: IF (Z- WW)<«(Q/10000GOTO 22 EP (Q/1000): K =1X1000
80 2870; E=EH +10%(K-KB)/LC
2265: E=E0,GOSUB 3100 2880: GOSUB 4000; NEXT J,RETURN
2280, XO=XR,YO=YR 3000 E=E0-180,D=T,K=KI-T
2300; KB=KH,WW =QX(INT (KB/Q  3010: XO=X1;YO=Y1.GOSUB 4000
3)/1000: Z = QX (INT ((LC+KB 3015: XX=X,YY=Y,EZ=E;KZ=K
/Q))/1000 3020: RETURZ
2305; IF (Z - WW)<«(Q/1000)GOTO 2320 3100: FOR I=(WW +Q/1000)TO ZST
2310; D=R.;I0=10-2XB;GOSUB 2860 EP (Q/1000): K =1JX1000
2320, E=EE-180,KZ=KE,XX=XE, 3105; L1=ABS (K-KZ),L2=L1A2,L
YY=YE.KB=KY.GOSUB 2855 3=L2xL1
2325. IF Z - WW<(Q/1000)GOTO 2350 3110 XO=L1-L2XL3/40/R/R/L/L +
2330; GOSUB 3100 L3XL3X%L3/3456/R/R/R/R/L/L
2350. X0=XE,Y0=YE,Ko=KE, LPRI JL/L
NT:LPRINT .GOTO 1220 3115: YO=L2XL1/6/R/L - L3»L3XL
2500; GOSUB 1550; W =255 A2X1+ O 1/336/R/R/R/L/L/L
% 255+ P,RETURN 3120; IF ((10<0)AND (K>=KZ)OR ((
2510: A =SQR (LXR);GOTO 2060 10>0AND K< =KZ))LET YO= -
2540: L=AXA/X,GOTO2060 YO,GOTO 3130
2570 R=AXA/L,GOTO2060 3130; X =XX+XOXCOSE - YOXSIN
2600; GOSUB 1550; W =0X%255+P;RE E.Y=YY +XOXSIN E+YOxC
TURN OS E
2700, READ Io,R 3140; GOSUB 850.GOSUB 900, V=V +
2705: R=R>1000,10=DEG Io 1:NEXT J,RETURN
2710 RETURN 4000; GOSUB 800, GOSUB 850. GOSU
2750; D=A0;E=J0o+E0+ 10, X0 =X1, B 900, V=V +1,RETURN
YO=Y1,GOSUB 800 4010: DATA 400000, 530000, 403702.48,
2760: XO=X,YO=Y,E=E-180, EB= 537686.925,0, 403625.750, 537926,

E-U,XR=X,YR=Y

510,3 ( THE3IT )
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4015: DATA -31.0214,103.586,55,0, 1
00,%Y”,50

4020; DATA 403679.045, 538152,336,3,
20.0824,160,70,0,100,%Y”,50

4030 DATA 403643.129,538450.824, 3,
33.4149,260,140,0,100,%Y”,50
4040; DATA 403476.861,538645.100,2,
-4.3718,1600,100,“Y",50,0,0
5000; END



